228th Knowledge Seekers Workshop - Thursday, June 14, 2018

(INTRODUCTION OF NEUTRON::: Breakthrough in AZ shimmering lights attained,
Belgium court case, Peace in North Korea, John shows videos and discusses what he is
doing in AZ, They started to see the rubbing of the fields and smoke which is the M
field conversion of mass fields into matter state but still in the gaseous state, The
breakthrough is we have managed to convert matter into plasma and conversion of the
Pl into field strength that it becomes a plasma of itself and when the strength is right it
manifests itself as the whole structure of the spaceship, for the first time we have seen
the fainted light and this will grow bigger, , )

(:18). A breakthrough development in AZ with John. (:20). Talks about court case in
Belgium. ... (:25). North Korea.

(:30).

(:36). John of AZ comes on. We're doing tests on 3 main SF reactors. We were trying to
identify the light between 2 SF that we weren't able to see with the naked eye, but we
felt them with our hands. We made a device, a wand with very strong M Gans so we
were able to interact with the reactors. (:38). the stronger feeding the weaker. ... we saw
some smoke between the reactors. (:40). Shows video. He can see in person but doesn't
show on video. (:44). The wand is made from Tritium that is very heavy M. ... What
did you learn from this? That it interacts with the G field but not so much from the M
field. (:46). After 5 days the 2 SF are beginning to interact with each other. ... saw the
light in between the 2. ... the lower part is where most of the fields are. What we should
learn from this is if we create stronger fields in any of the 2 sets, the system will light up
. (:48). If you go around the system and see if you see the light. At the moment it is
interacting with the earth's MG field and the ""Mother' system, one of the 2 system
against each other (?? | think it is the point of reference system). What is
important that you feel it and see the light, as | have been telling you. For the first
time we start seeing the shimmers. The strength of the bottom layer of fields are
there but they aren't strong enough. And when you put a stronger field inside which
is a single core that he is using as a detection unit gives you confirmation of the theory
and what we said from the beginning. The next step for this shimmering, is if John
finds a way to load up heavier fields then he'll ?? see the light all the way around,
he doesn't need to look. This is part of the development understanding ... now
when we add the third matter, or stronger field in, because don't forget this one is
much stronger then the other 2, and very much concentrated, then you start to see
the rubbing (of the fields), smoke he calls it, M field conversion of mass fields into
matter state, but still in the gaseous state. If they can find a different kind of
recording system that can show different kind of lights, then you'll see it totally.
Now we understand that we are on the verge of a breakthrough. (:50). We have
managed to convert matter into plasma, and conversion of the Pl into field
strength that it becomes a PI of itself, and when the strength is right it manifests
itself in the whole structure. For the first time we have seen the fainted light and
this will grow bigger and bigger. it shows John has to increase the loading has to go a
step up, heavier more energetic. We are on the next phase. One of the ways to expand or
reduce the fields is to reduce the top number 4 reactor, move it down and you suppress
the donut and it will squeak, leak when you have a donut in your hand and you squeeze
it and the cream comes out. By reducing the height of the top core you squeeze the
donut. The bottom 3 are very strong and they won't bend. the only thing left is the field
flow will increase. ... if you get it right by moving it too far and the pressurizing of the



Pl your system will fly. It won't go through the transition of the matter state, it will
create its own MG field as an open space system will take shape and flight. (:52). .. you
have to strengthen the fields ... watch if there are any Gans materials around in the room
that could be draining from your system, so whatever you have built you are feeding
them. Congratulations John and your team this is another breakthrough for the
development of the T. Try to strengthen the bottom cores and not necessarily the top
core, but you can do the top core by (changing) the distance (to the bottom). You bring
the blade closer instead of bringing the knife closer. Bring the top lower and see if you
can see the light. Then the next step is compression and what I call back flush of the
fields of the top core, if it reaches before the G field is created will give you the SS or
the shimmer of the SS. You'll initially see light but you can still see all your cores and
everything inside. You are dead on, if you don't play outside like the past few months
and focus on the target, you should have in the next 4 weeks. (:54). Video of missing
Gans in one of the reactors. It's a stationary reactor as part of a SF, one of them is
missing its Gans without a leak. (:58). (1:00). These cores are glued together. One of
the problems with these glued systems is sometimes works if you use 2 composite
glues, epoxy, it works much better. | want to ask you, which way is the reactor facing
the one that lost its Gans? (1:02). the other SF is to the left about 20 feet away. Maybe
it has a hole that it's evaporating. reseal all the ball and try it again. The Chinese website
KF.cn is back online. (1:04). What is important for a lot of KF supporters is how you
managed to create what you call Tritium or M strong. A lot of people are trying to
produce it and running into problems, and H2. Could you explain how to make it and |
give 2 warnings, this is not the only way and doesn't mean its 100% H3. Share
knowledge so people understand. I'll how to do the golden trick. (1:06). He shows
video. How did you pull the C from the CH3, w want to know how. The trick is we put
itina CO2 box, in a N coated plate and put , we put it in a glass jar in the water, as the
CO was being made. and covered the top. (1:08). As the CO2 was being made, it
disassociated the H. He draws it on whiteboard. We leave it sit for 3 weeks. Before we
start we hydrogenate the CH3 by bubbling in H-H-O. (1:12). So the CH3 also contains
some degree of H2 and the H. How did you guess it is H2 and H? We are bubbling in
atomic H. We used Hydrogen gas. Would it be possible that once you made the H3,
that you add it to a mixture of water and a mixture of say Gans water CO2, and creating
again between the 2 plates (1:14). create a condition that you produce H in conjunction
with C you can produce Deuterium. If you take the H3 to another box and put it back
into another composition of salt, different then the original. And you allow the H3 to
interact with the new Cu, sorry C, if you close the top it will allow this extra C to
extract additional O from the atmosphere without a cap. Then you'll have H20, CO2
and what is left over will be an (1:16) . additional H inside, using a pure water. It will
be a different color. Or a saltwater with a different density then the outside. You still
get your CO2 from the O getting pulled from the water to create the CO2 in conjunction
with the C and at that point whatever is coming as AA and from outside allows you to
create a water and then you should get a pure H. This CO2 ... is because it's all
plasmatic. You don't go to the matter state then it allows you to create H20 plus H ...
the only way you can see it, it's very slow, is if you mark the water level and see if it
rises. This needs a special understanding of it because when you connect your plates
you have to make sure you have, what I call a resistive load, it works usually with just a
resistive load, which is just a piece of Cu wire connecting the 2. ?? whenever you are
producing materials you never just connect this to this (the 2 plates together). If you do
that you actually produce different products and it's not CO2. (1:18). .. you might see
pure H at the bottom. This conversion is very rapid. You might see a change of color,



which are very rapid in this process. When you connect the 2 plates with one wire, you
are not using ?? use a chemical reaction. Even though it looks exactly the same. What it
looks like when you do a direct connection, you might find that you get a separation
with 2 types of Gans's. When you create a separation because now it has to go through
the interface of the wire, then you create a different environment. There are a number of
points you have to remember, over a number of years of doing these kind of N and Gans
making may have slipped your mind, is that the reason we use salt is not only because
of the planetary condition, but it has a typical common denominator and can lead to
NaOH, and near enough CIH (Choleric acid). (1:20). Those of you who have found a
mixture of Gans in your box means you most probably have connected (your plates)
directly. ?? go to the battery operation, where here you go through salt condition. This
Is what life on this planet depends on and if you understand this process you can use the
salt to release yourself with a lot of things and create a lot or whatever you need. It's 2
different processes, 1 is a G process and the other is a M process. NaOH is a G process
where NaCl or going towards Choleric Acid is M because you release a lot of energy
and if we understand this we can use it ot our advantage to create a condition of H, H2,
and H3. None of you plays with this, | have seen 1 or 2 people play with it but then they
left it because they couldn't understand. If you change your salinity and you feed in H3,
or bring the H3 you produced into a new environment, now you can decide on the
salinity or alkalinity, or if you connect the lines to be an acid condition then you go
through matter state, then if you go through Na you go through the Pl state or what we
call the cycle of life. This is the difference in the whole understanding and work of what
you see has been done. (1:22). ... When you use Na you go into the cycle of life, and
when you go into the chlorine or acidic then you energize life, and when you go into the
direction of the H you feed life. If we understand this process and what John is saying,
then the creation on this planet is practically the same. Our body decides and plays, does
it work with different salts, which in a way dictates the G, how much am | going to hold
on, this is why we have Mg salt and different salts in our body, it's how much am |
going to hold on to energy. When it goes to Chlorine it decides how much I am
prepared to share, and when it comes to the H it's what am | supplying. If we understand
this and bring it into the production of the H, H2, or H3, you'll find out in the dynamic
cores that John showed us, there is a continuous conversion between these, it's not that |
only have H3, but in the cores, especially when you reach the donut position, H3
converts to D (H2) and visa versa, and you decide. (1:24). in the coming time as we
become more expert in these kind of space flight tests we'll use only 1 material as John
has done, but the condition of the giving and the speed of the conversion decides if the
material goes to H3 and then goes to H2 and then if we can contain the H2 we achieve a
diamond structure of it, the H2, then it gives us the physical structure (of the SS). When
you look at the skin in the 3 layers the manifestation of the physicality and how it
appears is on the middle layer. You have eczema and skin deformation, it's not done ..
even though this (middle layer) is disturbed, this (top layer) responds to it, this carries 2
layers of emotion, in fact if you look at it, it carries 3 souls. And then when this soul
gets disturbed, the balance of the souls changes you see a skin infection, eczema. Then
you go inside the body where the salts comes to it the liquid, it becomes Asthma. When
you bring eczema in a liquid condition that it can grow you get Asthma. In fact, there's a
company in Europe that has become expert at it, they have understood the effect of the
salt in the middle layer, so if you get your middle layer disturbed, emotionally or by salt
you get a skin deformation, which forms not just because of the top layer being
disturbed, but because of the salt content in the middle (layer). It becomes a releaser or
an attractor of emotion, (1:26). or of supporting or holding on to, then we see the skin



changes. If you understand this (about the skin) and bring it into this process (H3
production), then when it comes to your SF reactors you have to see which one it is you
have to change to create the ?? crystal or physicality. Q: Would you recommend that we
put an LED on every single Gans kit we make? | always do that. Q: Because we were
only using it for the CO2 Gans? No | use LED for everything because it's a balancer and
if you understand the work of the PI it is actually it very much works as a diode, but in
the traffic flow from M to G and it can change visa versa. Q: Someone talked about ...
the salts that it divides the ions on one side and radioactive ions on the other and when
you have them together they would feed off each other. The comment was using Na and
K salts in your boxes. (1:28). You talked about the Na and the chlorine, would the K be
even a better choice here then the chlorine? Yeah, if you go back to some of the
teachings years ago, | referred to that | use K salt and the reason is not only conversion
it's the property of the K which changes its configuration in the process. If you use K in
the N coating stage you create a condition in your Gans's for the production of certain
field strength which can support you in the space flight system. This goes back to
understanding the nuclear magnetic field structure, and interaction between the proton
and the neutron. Q: Are you talking about the isotopes of K for example? Yes, isotopes
but at the same time it's not just isotopes because now you are working in the Gans state
of matter, so you are working in field condition and not matter anymore. | specifically
go and purchase K salt. (1:30).

(copy missing part)

(1:36).

(1:48). because of the fields and CH3, you created H3, then the next step to go from H3
to H2. Have you understood nuclear construction? | am not an expert. Come on John
you are the old man of this game and you played more then anybody else. | played a lot.
.. look at what you have achieved (H3 to H2), .. call it Tritium, which is 1 electron extra.
What do you have extra in T, (1 neutron). Walla. | always explained, that when a man
learns how to use a neutron then he opens to space. When you move from H3 to H2
where does this neutron go? Or in a plasmatic condition where does the energy of the
neutron go? (1:50). Only 1 man has managed to reach this place but he hasn't
understood it, he's still puzzled. If you can change, understand, or develop a system
where you can, always remember you have Gans's of these materials and not the
physical matter of these materials, if you can capture this energy the extra neutron, you
have created a neutron reactor, and the depth of the U is yours. Q: And that's where you
get into O as being the M of the ?? Don't forget you repeat the same process again
when you go to H. What is H, 1 electron and 1 proton, and you speak about this so
freely, again what is missing here, where does the energy go? 1 more neutron. If you
understood everything that you all spoke about .. if you put your H2 and H3 and H,
what do you get. Gans of neutron. (1:52). This is the space. Q; Are you saying add
them all together? 1 missed something? | hope it's recorded, you haven't missed
anything, you haven't understood what | explained. Q: Say it again in different
language. Okay .. (draws 4 dots 3 and 2). Do you remember when you put Cu and Cu
what did you get? Gans of Cu. Now what happens when you put Gans of H, H2, H3 ...
what is the balance of it. They all have the 1 proton and 1 electron, so what is left to
give. (2 neutron, 1 and 0 neutrons). Do you understand? Q: Are you saying to put them
in a salt environment? (I got it now then). You got it now. You came to the point of
producing CH3 and you can't strengthen your system. It means your Gans's are not
powerful enough. When you put more mass into it. That's all it is, a 2 liter engine you



can't get a 4 liter engine out of it. (1:54). But sometimes if you take the fuel out and
adjust your carburetor you can get maybe 3 or 4 out of it. If you understand how to do it
the correct way, you'll understand that you have the key to produce the Gans of neutron
and then you can use it as a space fuel. Then speed beyond the light, the imagination of
man can be achieved. I always said that the point of maturity for space travels comes
when man knows how to use the neutron, because it doesn't divide itself anymore, but it
shares the power of the highest order. You start stripping it, but with other Gans's you
always have a diminishing ratio, but with the neutron you don't, because it's the ,mother,
the Essence. So whatever split to, it pulls back to. The space knowledge with this level
moves one step closer to space flight. | said, if you move | teach you. We saw Musrak
brings something out, but he only understands part of it. We see many of you saying |
made H2, H, H3, but when | ask you what you made you don't know. Now if you say
you made H2 which is in a crystal condition, you made H3, go back to Cu and Zn when
it's Nano coated, the only N element left, individually, in this set is what? (1:56). The
neutron. And this neutron Gans can't be oxidized, but you have to find a way to hold it,
and a way that you can use it in the space reactors. That's a million of years of research
and development in the space and you got it in 1 sentence if you understand it. Don't
forget | am a nuclear physicist and | know the inside of the structure of a plasma and the
nucleus. If your knowledge and the space reactor needs to go a step up, and you are
looking for nearly, the ultimate fuel, this is how to make it. Why did you manage to
create CuO or ZnO when you had a N coating of the same which is a matter state, now
the game plays the same, you have 1 N set for free. Now that we have seen the light we
go 1 step up. But there are other ways without going through this process if you don't
understand that you can continuously produce neutrons. (1:58). Q: That's a lot of good
information you shared with us today. | am here to teach when you are ready to listen.
This is why you can't push your dimension beyond. At the bottom 3 reactors you are
pulling apart the Tritium, but some of it, in escaping becomes H2 and then it gets
energy from the outside and it goes back to H3, and when you put that H3 directly in the
center at high speed, you actually create, if you look at it, this condition. Then you still
have partially these 2 (H2 & H) in it. If you can produce neutron plasma, and
understand what you are doing, there is a specific way and | am sure some of you will
grasp it very quickly, then when you put this in your system you'll see the lights in an
easier way. Q: Would you call that neutron plasma M? It is neutral and interacts
according to its planet, it turns over itself because it has no connection. We talked about
Einstein who never understood, through his mathematical work he called it a funny
thing, when he said, '1 atom turns on one polarity and ?? the other one turns’, and he
couldn't understand it, to him it was funny, because he didn't have knowledge of physics
in a way. This neutron plays the game, you have to be able to control it that it stays
North Pole, South pole (how you call it) that it stays in the direction you want, (2:00).

(2:14). like a little prism, like when the white light goes through the prism and gets
separated into the separate colors depending on the lattice of the Gans, we'll see
different colors absorbed, .... for the generation of stars. Stars are usually children of
different universes. When we want a SS we need a seed, which we have been talking
about right now, the light of the Creator which expands in the appropriate environment
to behave as a neutron and from the other side we are feeding, and all the universes are
feeding and sharing their free plasmatic fields. that's what | wanted to add, | hope I am
appropriate. What you have to understand is that in the future mankind will understand
the teaching of today, how we brought man into a very advanced level of the space



technology. But those who don't understand think it's just a piece. But in time when man
matures to understand the teaching then maybe they'll understand that this was a gift
today (2:16). that changes the course of humanity in space development. | have
pondered on this for a long time, is man ready to carry this knowledge, or would man
ever be ready, but as we see some of the mankind's men have understood and made that
difference. As | have always said, you make the move then I will teach you. Many of
you have started moving, very few of you have understood how to move. This comes to
the point today that we have to add to the knowledge. that from now on it leads to one
direction and that is to take man into space. A lot of you will have a problem with this
knowledge today because it is meaningless to a lot of you because you haven't
understood the process of the space travel, but for those of you who understand now or
in the future, will understand that this is the biggest gift | could give you.

THE FUEL OF THE UNIVERSE.

The way the U works, the space becomes an oyster for man. ... you came to atom, to
nuclear and molecular, and nucleus and then I brought you to the energy inside of the
plasma. None of you have broken into the energy inside the neutron. (2:18). This is the
first time. We have reached the pinnacle of the knowledge of the universe. We are there
and from now on whatever we do decides the future of mankind in the space, because
now you have access to the universal fuel. I have shown you how to make it. My wish is
that the knowledge will be used for peace on this planet. Because this knowledge is a
million times stronger then any knowledge man has ever encountered. 41

(2:22).

END
(2:27). Creation video



